7924 , SOLUTION , DELHI POLICE CONSTABLE

Ques 1. ANS (A) Solution:
TeTe Tieh Sf3ror anpieT § 9 SHEst, 1915 & YR wie |
3 ATBIBT | (3T 1893-SIaT 1915) THIHIT 22 I8 3@ U
Tiefeh 3 gt uffRufaa & 9o SR sifedr &1 uraq
e | aféror SiwpiepT & 98 U WY afweR U1 HRd
1 Fishy IS H 31 F Tgel HeTeHT Tl TMUTe Hy
RIS & TS B ST qUT MUTE FHT TR & el 3
S{UAT SIS T S|
Ques 2. ANS (B) Solution:
TSI T FHT0T TS STGRIE RMgorel A ol i
STTH HHATS 7S B TG | 1631-1653 5. H HIATT YT
g a¥d: GHATS Hed &1 AhaR] § | 3BT A
RITAGR ITE SEHE AR T, et T it ar
fafar Swarersar un
Ques 3. ANS (B) Solution:
femreha 1 MR Aelt T U I HId | TSR
e gRI a1 Ta71 3 §g U9 SIfeea &) gfd gon o
ST @ V| YR BT bl YR quT el
AT | gfere MR el H Wepl-JAwE, a1 g -
A S v 7T ST 8| MR et & foslf § awall ud
RN 1aC BT AT § Sidh favar a1 § o 39
fAfaria (30) WU e HRAT B |
Ques 4. ANS (D) Solution:
YR TfIUH & UFT-3 & 3FG-12 F 35 T WD
HfIBRI (Fundamental Rights) T Icerd faram a1 B
Afere USRI BT Urae™ MRS Sy I forar g,
S -3MfeT & ISR TF (Bill of Rights) & THA &
Ques 5. ANS (B) Solution:
Tfaur GUT &1 UReY IAfd (Drafting Committee) &1
T3+ 29 37T, 1947 HI §3HT UT| 3T AATT & 3reqef S,
. 3R, SFSHR Y qUT 3% e 39 AT T 6 37
e i 2 & o 39 UBR &- (i) T TuTararHt
3R, (||)a'7 TH. H‘\’ﬁ (|||)WWW (iv)
Jere; Tiigme Age, (v) 9. Te, R (@ TR SR
A TR ¢ &A1 T TagTd T, J1¢/d 79 A UG FHTa),
(vi) S1. . TdH 3! G & UHTd 341 UG <. .

= GHTem |
Ques 6. ANS (B) Solution:
AT & STwG-165(2) B AR, YA oY Bl
ST, 3= A & iRl fAgead g1 & g
TRYAr IG ITd fordt safad &Y Isg &1 AeTfdgadr
(Advocate-General) ﬁ% CRESEI %I g U IRDR
1 YA f3fY ifYeRY glaT & duT 3% ddd Ud HRil &7
Fufor rsauTer gRy fosar S R
Ques 7. ANS (A) Solution:
UyH Uealg IIoHT 1 310d, 1951 &1 URY §8 T 31.
T 1956d® 31 H X! Tg Ao RIS SR Adfa
Tied IR STl off | 39 Ao &1 o7 3=, HiY &
P [AH BRp TIE AT H HH AT AT
Ques 8. ANS (C) Solution:
eI &l Ui H o) Bie-BiC 419 gl &I
foriiora ¢iu THg 8T I 81 3RE IR # fR|
flepTa (R 1 Aiewp) HR §iY 9Hg werelu &
T gféror & fyd U Terd vrard ) 8| J8T J|

%canned with JY=ITEAT Ud UhTR T (Light House) fR@
|
Ques 9. ANS (B) Solution:
IES 3o dIRM @oiie) # el ¥4 § 37 ard sfaar
STONTOTEf g&f & Y B STHIHR UTd fasa STl & |
9% oIS a¥ 1876 H URT (o) I YR H A1 T 3R
1895 5. § ol I & UBTS erell R T TR |
Ques 10. ANS (B) Solution:
Td ©TCT (Death Valley) Tdf HABIFHAT (USA) & HISTS.
TRRIA & Y Joil I UTh H R 71 8 I
ARG HRTEIT &1 Tad T, TH 3R YHad o1ct g Sl
i IWraT & forw UG ® 1 99 | 39 ®=id & fay
BT I8 TH RIS (dT9AH ! 2P J) 9iftd forar gl
ERS) YISt Y A BT e B (Devil's Golf coursy ot
Hel a1 3|
Ques 11. ANS (C) Solution:
TR TG 3 TR g § orwT Ieora dfdym o
et fora T § Srufq foraesT e Sriurfeisst & gRI
o2 STl & SH- RMFT HFAIRISR ST (National
Human Rights Commission), Hifa s (NITI Aayoq)
@WW START (Central Vigilance Commission )
aﬁlﬂﬁ&mmﬂm1mzo1sﬁ§aﬂsﬂ$
U e UYTTH 81d & adT IaAH | 9P JuTede
ofld HHR B
Ques 12. ANS (C) Solution:
AU & 3IEG-324 & SHid 25 SFaRl, 1950 Pl
YR & fAafe= smanr (Election Commission of India) P
R 1 75 | el manT 99 ud ude Isg &
fagrTHsd o forg g1 arel vt Faterr dur yufe wd
%W%WWW(EIectorol
Rolls) R T 81 Ty &Y, Iudaa qaft fafem &1
3refteror (Superintendence), ﬁ%‘x’l‘f (Direction) dUT
IGEELW (Control) ®dl %I
Ques 13. ANS (A) Solution:
forer =marerat & e @t fgfad, rsuard & gRi
I A & I AT ¥ WRIAR] & UYT Bt Sl ]
AU & 3Tag-233(2) & AR Dl Afad fora
rneter fAgad g & ford ait st g oid 98 HE 9
®Y 7 T4 dd YT X8 BT 61| I TTerl & S
T4 I9F fE0 § &1 o4 ard grred) b Ay
T Hgd & | 9B Ieoid e & HIT-6 H
3T¢-233 ¥ 237 I fovar mar || fora =amarea &
UHR P Bld §- RIS TRITHT (Criminal Court) TH
STt =R (Civil Court) |
Ques 14. ANS (B) Solution:
AT P YT S D) T S A &t arwon 6
30, 1948 P! AbTC I HA ST T TG T&on
F gRI BT TS | 39 Hfq 7 e auf & YR 3t fAifya
SfaRIT & &I} T UY-UERH fomar|
Ques 15. ANS (A) Solution:
e TSR & BIRATETG forel H fRUd Uewe uddig Rideh!
JagsT A & ot fRd g iR 39 YR i@l | R
AU & HRUT Y JAYST 1 I+ i BT ol g |
Ques 16. ANS (C) Solution:




3BT (Amazon) fa%y T gERT T Tl Td 3fUaTg
(3T D1 2 I Iy Pt T g5t 7St 81 T o
3AR®T AETEY H TS UdaHTen ¥ daeds gd & 3R
Yaifed it g8 Sfcaiied TR § fird St g1

Ques 17. ANS (A) Solution:

IRIGGR fABR 3HYdT SRYGR SSHIRMAT & G SI1dT U &
TAER TR & UG 750-850 ST & HL T HERH g
fIER 21 78 3l 1 TR & ol g2l sig [IER 31 @
FfER TGAR! TR 1 31T 8 o I o7 1 IUt
THR B T 3,60 Ieal 3R Yoy g ufawrall &
JUfSTd § IS8T IHRIT 3R HRIYRA & foll &7 Icera i
T AT 81 39 b5 | R U Tue $ ARY 3R
XU aTel v g Ufaar § 1 I8 T3y 1 9 597 SIR fay
& AW sl AfRI # I T ]

Ques 18. ANS (A) Solution:

foeR & WMeETe & YR AH® RIF WR IRTAE &1
TheRT YT 8| T8 AHaRT fg-TRAH RIS el &
TR BT Frex ISTER0T ¢ | HHERT & it U1l Y
fog IRgH e & FIFYU uferd frar T §1 3 R g
3R SEATH AT BT WY YHTT 4T off bl g |

Ques 19. ANS (A) Solution:

SGANT SHTarad TSt & =g § fham S arar ™
S TG AT ST ¢ | T8 Siferdiarell i gTehIus
T4 e T & favg 1920-22 3. & o 147 of | ufgedt
YR, ST 9YT IR YR H SI8aNT 3fiaia &
3YIYd qhadr |

Ques 20. ANS (A) Solution:

3feg AEd 3t SfifUed e &t RITAT 1907 3. H
SfaTeAY SR (1871-1951 %) 7 AP SHigIa & dgd
TG & IITaR0 & Bt off | Sa-igy SR 3 Ui yHTa
T AT EHR WM SR TR &1 | fS9d gR1
MYFP YR FEAwdl o [de™ &I Serar e |

Ques 21. ANS (B) Solution:

g Y d IHHS DT 71 3790 et & qaft oifa wd
YT & AN M | IS 3 S0 HRA 3R IR
YR & Ufad MG & T g BT B bl adT Hidd
JHTEIE BT S0 HRA F IR HRA DI 3R T 3|
AT TUH GATS YRS 3, e o= o soer suew
feon qur afgenatt & +f s Ry s=mr fS9d yeaTadt
Tq e o

Ques 22. ANS (A) Solution:

To!-Tda JdTed! B SoTgR (@-icd) foral H fRyq arardt
(3MYFIH 1 STaTHt) AHS Ui TR ARl Bt
ST ot | AT & AT ISART BT IRATGD HRITTD
JABRM UUH (535-567 3.) 4TI TP STRIYBRI
BifdaHT UYH (567-597 3.) A RURTHH, FATHY 3M1fa
JUTRAT YR B oA

Ques 23. ANS (B) Solution:

™ & STeE-39(@) & IUR, T Tg A1
BT b BT ATRIT BT AT 39 UHR gl [ G Bl
TAH ¥ 1Y ITdH 81 b quT e =g 3
FHHOIR T 3G UHR & (A (Disabled) faqal & forg
4 F:Ieh ISP TSI (Free Legal Aid) &1 HIRT I |
39 424 Tfge deneq Siffaas, 1976 gRT SST T4
Ques 24. ANS (C) Solution:

Sl YA (Cut Motion) HH1Y Sieic & JifYd 81 T8
TRAT4 fauer gRT WRSHR B 3G Bt AT H FHeldt &

I W AHIHT H TR a1 ST 8 U8 i USR o1
Bt 8- (i) forTa wA (Policy Cut), (i) e werd cs
(Economic Cut), ddT (iii) i i werdl (Token Cut)l
Ques 25. ANS (D) Solution:
Tcrdt Uerayfa TS (1985-90) 31 A, 1990 HI THIG
g3 | grad! vaaylg a1 & THTTH A &) 98 & SHRTd &
91 334! Taauid Ao 1 30d, 1992 § URY g8,
et srafer 31 A, 1997 a@ 21 1990 & e Twe
TUT IS SIFRURAT & HRUT ATad] Td 313} deadfg
o1t & e & aNf dd AT BT (Plan Holiday)
&I
Ques 26. ANS (C) Solution:
dc Y UEA 10 30, 1954 &Y Wi § a1 fasar |
T TP T R g | fhl avg & Iare &t ufshar &
U IRUT IR 9% b Ydfad G P YR R IR P
3TH e B! Jed Halgd BR (Value Added Tax) O
Fed ol o yRa # 1 310d, 2005 & AR fan | 1
SIdTS, 2017 ¥ AN %] Ud a1 X (GST) A 9 Hl
gfereuitd o= faar ]
Ques 27. ANS (C) Solution:
RDT SR IOYRIR 19 P T QRigrd wF &1 3 S
TR frord 9iftd €1 I0rmiR A=Hd utdh 1 9 1973 F,
S TRenT o a8 1978 H TR froid 9t fasar ma|
TOYRR IYH IR T F919 I} 94T 3o & daa et §
IEREEI
Ques 28. ANS (Q) Squtjon:
Yoo Y/ fayad Y uth g e el § 4 U g,
ol g SRIRT & Sffifked T 95 9 81 a¥ W 94 &1
0l Traad TS & HRUI I8! dIieh draTR Ja9 &9
T STl & | S SMT-UT & &1 H ¥ HR 37 3R fa
1 3fafd SRISR (ETHT 12-12 G &) Bl ¢ | ST TRT
fid F5g BT SIUTT TR ST | STaifeh YT 3T ¥ IR
7 ST Bt 3R & Ud 1 Bt 3afd 7y & oy
gRafdd gidt &l 8|
Ques 29. ANS (B) Solution:
DI BIER A YdUAH T W HR A & G
| o9 TR R I 1 I&=G AN H §<Id B 3Tad
DI\ MITed BT T, dlfch 39 §ad PI [d= 3 Ush o
w0 ¥ Ugad fbar s e |
Ques 30. ANS (D) Solution:
gﬁ (Organic Farmmg)?fﬁﬁ@ﬁ?ﬁw
JUTTeR § S JaT, UTiRfRufdes d=f 3R @ & Wred &
Wﬁ%mmmwaﬁmw
%@@b‘q (HReh) Td Fwgul Gfarr ukmr &1
cr%mqrrh: HIY a1 I &9 T B
Ques 31. ANS (C) Solution:
STRIRGHT o I &I STAARADT (Demography) FHgd
€| SBT3 S-EReAT YT & Sf=cid [ i g |
S0 SHHE & fafay el o, fefmaTa, wmerr,
SIY 3fS BT Seq fobar ST §1
Ques 32. ANS (C) Solution:
I (Faroe ) I1 TR AlGTord MR dUT 3TRT 3fedifed
AR & A& f¥d U 41U 9g 81 T8 ST9IH &
31EfH T T M R 1 SH SlU g Bl AU U P
I oft ST S 8
Ques 33. ANS (B) Solution:




P BRE (Black Forest) Ga0T-Uf3ef ST+ & dTeH-
FeAe § fYd U gAresTied udd Aot 81 39 S ug
U@ﬂméﬁwmﬂm(RhineValley)@ﬁ%Iw
g g 9 2

Ques 34. ANS (C) Solution:

TeraH HieR fafor o1 oy Qe § 39 T & Ik
IXd TMeg U (UTa) SR 3MaH (o) J g g | o
& &aT fRra a1 foslt o=y Gaeln a1 ¢l ol g Hier o
Rt fopam SraT o7 3R I ARY 3R fAftfa Mo Ay
T IR 3 3R adl IW SITd ¥ | 3T it BT IeIg-ul
WoRTe! H $aRdl Hglad Hidy, YR § | RIS HfeR,
IR U & 2a7¢ H SMEdR AR B

Ques 35. ANS (B) Solution:

Ffed I & dAomR H fRyd Ma e &1 At e
TH A Higwe 3nfeasng fedia & e &
Try g UR™ T mar o1, Siefe 39T fAmfor ol
snfeasg fadia & raeewTa & ERH gof g |

Ques 36. ANS (D) Solution:

PG o SRR (JORTA) YA P Sregar U I
T 7 WAt} 1938 5. H &t | T8 BTG HT STa-1ar
SFYAR UTI G IR 1939 3. & B Hem wew)
HO AR # idh off & oy & a1 ot srwmer ug &
fore g ferg e eyt Ward@n & wifsd fean
T | TRTSTT & &G Tieht St 3 T Uelfy &1 8R B R 3
Ques 37. ANS (D) Solution: 3R HIHTT Bl YR fthed
T4 CaiifaSr SR (FTII), O T =147 &l 1A foban
T 31 39 3HfaRad, a8 FTIl &1 a1 SISRIT &

3 o U U HIH DI | AIYTT BT AHIB- 30! fthed
RABEY: T el Fhae B BIerAT Therdl & aIG gl g,
ORI BT TR WR UgH gIRId 1 &t | bt 7 69 d
BT e RIBRT & GRME Ufd¥d G498 BieR fther
BT RGN GIRIA (1| THETSMESATS & T &b T I
R WYaH Ft i frer sik aitfae e & a3 o
IHTAN & iU TR Bt Ufdagar 3R HRdg fihed
TN H UfaHT BT DT R 3R oIy F & fole 39
WW@E{W%I R Madhavan has been named

the new president of the Film and Television Institute of
India (FTII), Pune. Additionally, he will serve as the
Chairman of the Governing Council of FTII. Madhavan's
nomination follows the recent success of his film
'Rocketry: The Nambi Effect ’, which gained national
recognition. The film won the prestigious Best Feature
Film award during the 69th National Film Awards. The
appointment of R Madhavan as Chairman of FTII
reflects the institute's commitment to excellence in film
and television education and its continued dedication
to nurturing and celebrating talent in the Indian film
industry.

Ques 38. ANS (B) Solution: TGUT OR TRITH T & g
BTN o TAHAT AHIGR A1 WeR - TAM [T fob 3fd
BT H HITCEAR Bl BRI G & =Y H 71 S|
Y Ugd & dod, G TWHRI MfUBTRT P1 HIeiaR Bl
T3faret T T HRA! g1 | HIATA 9 & SR U 35
Wex A gg i aral fasar fos 3R 98 I aaRr &1 fort &1
IRT B A AR U I A1Sfha TarehR IaTex0r uxy
B | A A AT T IR1 Yo gRAT0N Arsaaiii=
el 1 4SSt fd@M & SR garsil &1 T qH1 B

mmﬂﬁmﬁl To curb pollution,

Haryana Chief Minister Manohar Lal Khattar
announced that now Tuesday will be celebrated as 'car-
free' day in Karnal. Under this initiative, all government
officials will have to travel by bicycle on Tuesday.
Khattar, a two-time MLA from Karnal, also promised to
set an example by personally riding a bicycle if he visits
the district on Tuesday. The Chief Minister made this
announcement while addressing a gathering of youth
while flagging off the 'Drug Free Haryana Cyclothon
Rally' in Karnal.

Ques 39. ANS (B) Solution: JTRI U= |
SffHaTQIoRe™ = 3,000 AT QR TH HHER BT Udl
T 3. 311 |1 & b gt ot enfifep S &1
forett o, IHehT otk R U I “UDHIUTT o URe” Bl
T e T . 34! el gt & Wy i R Y
B8 URd! & I GHITT 74T 1. 39 e H JaX
aﬁ%ﬁﬁﬁ@%aﬁﬁiaﬁ?@mﬁ%ﬁ.ﬁ??%wﬁ
HHAT - 39! G X gU I o I i a7l &
AN & foTT g&aTe fhT S aret Ureii= oI siel Ue
&1 Hobd ad 3. Archaeologists have unearthed a 3,000-
year-old tomb in northern Peru. They believe that some
religious leader must have been honored here. He is
named "Priest of Paco Pampa ", referring to the
highland archaeological area where the tomb was
found . He was buried under six layers of ashes mixed
with black soil. There were also ceramic bowls and
seals with beautiful figures in this crab. The Ministry of
Culture of Peru confirmed this, saying that it indicated
the ancient ritual body paint used by the elite.

Ques 40. ANS (C) Solution: PIcE HAlGaT S P SfaRH
geel R iR Tigal & dR R uss T & Fged
foam T B, Pied Aigsl 9% & Uay Heme ok digai
3T Pled A 37 TId & 3fd F ST HRIGTE Tq1d g
T Ugd UG U SKIW ¢ far o1 ¢ HiEen & Fgfad a&
I S UeY FeRIE luds Tl S iy Teiy
IBEEIED ;ﬂ‘s‘ahﬁrgaaﬁv—mw% Deepak Gupta has
been appointed as the interim Managing Director and
CEO of Kotak Mahindra Bank. Uday Kotak, managing
director and CEO of Kotak Mahindra Bank, resigned
from the post before his term ends at the end of this
year. Deepak Gupta, the current Joint Managing
Director, has been appointed as the interim Managing
Director and CEO till the appointment of a new CEQ.
Ques 41. ANS (D) Solution: HIgH IFTF YUR e A
PHIABIAT b Wlee A Wiead H S §71d Bl 1-0 ¥
BB LS HY 2023 D1 Radra U 17 R ferar, Hig=
T S99 Ugd a¥ 2000 H g8 YU RadTe Sifdr .
3B 2004, 2009 3R 2019 H BTZA H TG §18 Al
fgaTe 751 Siid UTd . §IS U 2023 3 3R DI L= gafl
T, Ig gAHe BT 132 Teaur oT, forq® 24 A4 3 U
ferar. Mohun Bagan Super Giant won the Durand Cup
2023 title by defeating East Bengal 1-0 at the Salt Lake
Stadium in Kolkata. Mohun Bagan had earlier won the
Durand Cup title in the year 2000. He made it to the
finals in 2004, 2009 and 2019 but could not win the




title. Durand Cup 2023 started on 3 August, it was the
132nd edition of the tournament, in which 24 teams
participated.

Ques 42. ANS (D) Solution: foraTsd & Jd famTel
fopdrex B e &7 49 T &1 Y H e g1 1 8. gy

Wi 3 forarsd & o 3 FHRIR 65 T 3R 189
IS 79 Wl 3. I5i FaeR, 1993 H of 3 fora
oT. 3514 X B 102 TIRAT & Tgarolt &d gu 216 fade

ICHIT A, I FYT BT TSR] JAb! gall AATfG 4 .
Former Zimbabwean cricketer Heath Streak has died at
the age of 49. Heath Streak played 65 Test and 189 ODI
matches in his international career for Zimbabwe. He
made his international debut in November 1993. He
took 216 wickets while bowling in 102 innings of Test.
Information about his death was given by his wife
Nadine.

Ques 43. ANS (A) Solution:

JABEs UHcH $eWY (UPI) I CioleRM & HTHe o
TR B TaRex Rebre &1 §. =-d 9HeH HIRURRH
3Tt S1&AT (NPCI) A HBT fb UPI & SIRT Ugell IR SRRA
T AT BT M ST 10 3RS & UR U 7T €. UPI HRA
H gt et UHe Reed & fofT T Y9 I8+ NPCI gRI
I fyd ue fuet ergH Oe Ried 8. NPCI & 3fihs &
TR, gUTSMTE & SIRT HYTH SolaRM P 3idwaT 10
3RT P IR R 7 . NUIE & 3R, 30 3R d
gutafs ¥ Huel gioiaR™ &1 sffdrel 10.24 3RE R Ugd
TRIT YT. A tremendous record has been made in August
in terms of transactions through Unified Payments
Interface (UPI). National Payments Corporation of India
(NPCI) said that for the first time in August, the number
of transactions through UPI has crossed 10 billion. UPI
is a real time payment system developed by NPCI, a
premier organization for all retail payment systems in
India. According to NPCI data, the monthly transaction
figure through UPI has crossed 10 billion. According to
the report, by August 30, the monthly transaction
figure from UPI had reached 10.24 billion.

Ques 44. ANS (C) Solution: HRd 3 urfrsa &t BRI
TR Y 2023 F1 faars Siid foran 8. gafde simm &
W T, S8l HR A Uec] Yesae H ugdl 7Y giadt
55 TR HY 2023 F1 RIATE Shdl. HRA SR UIfbea™ &
a9 R gabTad H JHaRGWd cadbr gl g1 CI3d ddb
IR 1 <1 3-2 3 U, TR b §1G HRATA
A 7 SRER aTUR Bt 3R TR G <IH % WhR 4-4
J RIER fHaT. Yease # HRd & Af<R Rig iR Reld
g 3 T <M, Saf T IuR YT BIbRT A Ui
D1 Gl DI DI AIHH B (4T, India has won the
title of Asia Cup 2023 by defeating Pakistan. The
tournament was played in Oman, where India won the
inaugural Men's Hockey 5S Asia Cup 2023 title in the
penalty shootout. There was a fierce competition
throughout the match between India and Pakistan.
Pakistan team was leading 3-2 till half time, but after
this the Indian team made a strong comeback and
leveled the score at 4-4 till full time. India's Maninder
Singh and Gurjot Singh scored goals in the shootout,

while goalkeeper Suraj Kakera foiled both Pakistan's
attempts.

Ques 45. ANS (D) Solution:

I IR 3R I IHeH B! Wfd & g SiaRigha
A 23 AT &I FHTT &Il 5 | I8 39 & &1 A1g
fEQATaT § 919 23 3T 1791 &1 Ae S, o @ gt
HE1 I1dT §, & g1 TR & AT f[agig & gait ol
S U IR g o ik R R & I UIUR BT g
oT| fagIE & BRI A & WD & [3%5 Hifd & TS|
2023 4t “Fighting slavery's legacy of racism through
transformative education”. The International Day for
the Remembrance of the Slave Trade and its Abolition
is observed on 23 August. It commemorates the day
when on August 23, 1791, an uprising against the slave
trade began in Saint Domingue, now Haiti. Haiti was a
French settlement and the center of the slave trade
throughout Europe. The rebellion led to a revolution
against the rulers of the country. 2023 Theme:
“Fighting slavery's legacy of racism through
transformative education”.

Ques 46. ANS (B) Solution: HTSTEd! 3R SgwT
BTSSR $I JIRUEH 21q] fSaat o1 fafay argarde
faTa PRIHH! & AW I THIS & Jfal 3R
SReXdHG! & QT -3Tfid I/ & IFHT 3R
HHRIHD NI & folt Ufdi¥d HITHeR rge
ARWeTRY Eiaic JaTs-2023 | FHTd far T g
THTS JaT & & H I 3 GRSl & THe Th SHagf
R {35 1 3% g § Suadt w1 SeE A dferdl &
fere fRrem & AR Arior SR snfearht &5t & wrea
JauE Iuersy 78 § | fHei) TR o Srf e &
1 § IBiH arEl afedt dHY TR SR HUwr %
W@[ §Tex Te 81 Shalu Jindal , Chairperson of
Majsevi and JSP Foundation , has been conferred with
the prestigious CSR Times Lifetime Achievement Award
-2023 for her outstanding and positive contribution
towards the socio - economic upliftment of the
underprivileged and needy of the society through
various community development programmes . social
service They have set an ideal in front of other
institutions in the field of Under his leadership , JSP
Foundation has provided education to the
underprivileged to health facilities in rural and tribal
areas . Through programs like Kishori Express, he has
made lakhs of daughters free from anemia . And pulled
out of the vicious cycle of malnutrition .

Ques 47. ANS (A) Solution:

YR Ugiferad HiuReH fafiics @idiiie) A fobdbe &
RIS 3R YR frdbe A % A WE 1 g
¥ IIRUY 3R THS! off FUGHR A I &d8 & FS
TSR 91 ST TR WRIT SfeR i g, SuiRfied, yRa
WHR & USIferad 3R Urpfaeds T Harerg & w@ifira o
U& HRGIG WIS & BT JUsHH 3. Bharat Petroleum
Corporation Limited ( BPCL ) has appointed cricket
legend and current head coach of Indian cricket team
Rahul Dravid as its new brand ambassador . BPCL
Chairperson and MD G Krishnakumar expressed




happiness over Rahul Dravid 's appointment as brand
ambassador . of . BPCL is an Indian public sector
undertaking owned by the Ministry of Petroleum and
Natural Gas , Government of India .
Ques 48. ANS (B) Solution: UTSciS & AT YETTHAT &
¥ H g7 YT (Srettha Thavisin) Ca AT AT %‘
YTy o IFGaR] WR Uid °e &1 989 o d1a AdaH
BT YT FrH I514 Siid Gol 1. 98 o%T i gad go!
e Teee Hufdl & ¥ T & UHE . UIsdlS Serams
yragta # RRyd U SfaiT-gd TR 31 8, 9! IS
ST §. Srettha Thavisin has been elected as the new
Prime Minister of Thailand . Thavisin 's candidature was
voted upon after a five - hour debate, in which he won
. He is the head of one of the biggest real estate
companies in the country . Thailand It is a Southeast
Asian country located in the Indochinese Peninsula , its
capital is Bangkok .
Ques 49. ANS (A) Solution:
HERTY & G&IHA 1Y fRiq = 4o § Tdiic ad ¥H
T AT TEaHR HRAIT ReTd o (ARENSS) & U5t
IR ST SIMW & 19 TR I8 61 I U 161 |
URTE SRl HIS! GRTE $T S 14 SHART 1896 1
& TG Tt o TUeh HRTST IRAR | g7 T
EEUESS %u@lé H & 91 98 FIfda afdg & 8 3k
fofe=T I 7 1943 T RIS & Uge HRAI TG 51
TSt T BT 1944 T e PR gRT A1Ze Bt IUTY
7 off 8iR 1959 B YRA & Wl ANRG M, YRd
@ FwTd fobam T

Ques 50. ANS (D) Solution:

I i UaRTeSl - Yavu- I &1 THe 3R Figan
forgad fora B 1 Yaa e 04 Sad), 2023 @
TR & Uy o= 3R T HRISRY SHfeRY
(CEO) & =U & Id gUI 3% Uid I1d & SRIDIA &
fore e fopam o 81 9% U SaTs 2022 9 el §, 5|
TBTe THST 3R W3 MfivpaAR I8 3 Riw ¢
f&ar 1| $& 99 Ugd a9 98 9 T AR B
YR 3T & Tt 3R it SToRfET SiiftharR 31
Ques 51. ANS (B) Solution:

| 3R 11 HHR: A 3R B H five g B

I and Ill fit A and B respectively.

/N

Ques 52. ANS (A) Solution:

F = 43R/5

3R, P = 2Q/3 = (2/3) * (4R/5) = 8R/15
3T I 39 q1E P 3R Q Pt 1Y &1 AN, 3 a¥ Ugd P 3R
RT3 & AN & IHAM ¢ | T4,
U+e3+T+3=11-3+3R-3
R+ 12 = 3R

43R/5 + 12 = 3R

3R/5 = 12

3R = 60

3R, Ut = 8 * 60/15 = 32

dd, P 3R R @I 31T & & &1 3R = 60 - 32 = 28 Y
Q =4R/5

And, P = 2Q/3 = (2/3) * (4R/5) = 8R/15

Sum of ages of P and Q 3 years from now is same as
the sum of ages of P and R 3 years ago. Then,
P+3+Q+3=P-3+R-3

Q+12=R

4R/5 + 12 =R

R/5 =12

R =60

And, P = 8 *60/15 = 32

Then, the difference between age of P and R = 60 - 32
= 28 years

Ques 53. ANS (B) Solution:

SIS TUUT B MN TR @1 7 § o faT 1T Saier &F el
g B3 &:

The correct mirror image of the given combination
when the mirror is placed at MN is:

Deg4{Z} |{S}Ppad

N

Ques 54. ANS (D) Solution:

T 79 § TP el TR 3 Hadh! & (e gl 8
faQ TQ WS H, 55, 22, 33, 44 3R 66 & A 5
Y, adh 11 3R 55 T G¥R & [AuRId ]

Every face is adjacent to four other faces in a cube. In
the given combinations, 55 is adjacent to 22, 33, 44,
and 66. Hence, faces 11 and 55 are opposite to each
other.

Ques 55. ANS (D) Solution:

84 -—-(8x8)+(4x4)=64+16=280

U UPR, 65 --- (6 x 6) + (5x5) = 36 + 25 = 61

84 ---(8x8)+(4x4)=64+16 =80

Similarly, 65 --- (6 x 6) + (5 x 5) = 36 + 25 = 61

Ques 56. ANS (B) Solution:
(2+3)x8=5x8=40;3+9x11=12x11 =132
S UPR, 2+ 7)x9 = 9x9 = 81
(2+3)x8=5x8=40;3+9x11=12x11 =132
Similarly, 2 + 7) x 9 =9x 9 = 81

Ques 57. ANS (A) Solution:

UAP IR H STIfbd & HHRL: TP, &, T SR IR
R R Sgadl ¢ | Srifed & &fas i § wmfala
1 ST § 3R ofd & qXd a1, =ia 1 ufad § RiFiaRd
B ST 1 213 3R Bt 3M1pfa Y féromad fa=m & 45,
90°, 180° 3R 360° WEFITGTTRIIT%I

The shaded region shifts by one, two, three, and four
places respectively in each step. The shaded region
shifts in a horizontal direction and shifts to the row
immediately below, after the end. The figure on the
right is rotated by 45°, 90°, 180°, and 360°, in the
clockwise direction.

Ques 58. ANS (C) Solution:

e
Jedl-gadl B & 91¢, Y e e
27x9+13-3+5=1

243 +13-3+5=1




1869 -3 +5=1
3T, LHS, RHS & SRTsR Ta1 5
feda 2
3CAT-gGal B & JIC, §H Hadl &
27-5+13+9x3 =1
27-039 + 27 = 1

3T, LHS, RHS & SRTSR T8l 8

ot

27+9+13-3x5=1
3+13-15=1

1=1

TTdUY = ARUIUY

ﬂ‘g’}f@[

13x3+27-9+5=1
15-4=1

3T, LHS, RHS & SRTeR T8 8
From i:

After interchanging, we get:
27x9+13-3+5=1
243 +13-3+5=1

18.69-3+5=1
So, LHS is not equal to RHS.
From ii:

After interchanging, we get:
-5+13+9x3=1

27 -039 +27 =1

So, LHS is not equal to RHS.

From iii:
27+9+13-3x5=1
3+13-15=1

1=1

LHS = RHS

From iv:
13x3+27-9+5=1
15-4=1

So, LHS is not equal to RHS.
Ques 59. ANS (C) Solution:

DIs TN TR AwT3C a1 7. I8 o I .
FS TRl & TR 811 B U §| $& TTARER
TG TR & | T TGN TR TR 81 IHhd ] 1 3,

| I 5
No sandstone is graphite. This conclusion is true.
Some stones are marbles is a possibility. Some marble
are sandstones. All sandstone can be stone. So,
conclusion Il is true.
Ques 60. ANS (B) Solution:
Tg1 flreT SR YA Tdh gak & T ¢ | 391 UeR,
I8 3R 37 U g & Tafarh g1

Here, False and Deceptive are synonyms of each other.

similarly, Elation and Delight are synonyms of each
other.

Ques 61. ANS (D) Solution:

TG (11), (111) 3R (IV) B IR HET H faurfora fosan
T ], S8l &l Y # U €1 UBR & Ui g

11§ Th YT H '+ B Hot AT GO YT H '+
$0 T Y SN B, STl TP AT H 'w' B H T
'w' BT P TS I SR 81 GER HIT H,

fort 111 3R v & off wEH O g

QB SHT (1) H A SHeT-31eT Uchiep & |

The figures (II), (Ill) and (V) are divided into four parts,
where two parts contains same type of symbols.

In figure I, the total number of '+' in one of the parts is
twice the total number of '+' in the second part while
the total number of 'w' in one of the parts is twice the
total number of 'w' in the second part.

Similar pattern exists in figure Ill and IV.

But the figure (I) contains three different symbols.
Ques 62. ANS (B) Solution:

UAd 3HPpfd B, IR YHMH TgYSll b Sishr U Thd
3H T IS et B

BT (1), (I1) 3R (V) F, & TR TH-gR B 3R IR
aw@%am%ﬁmnnaﬁaﬁw, 3 1 IR THh-ga
I R TIRT IR B 8

In each figure, the four similar polygons are combined
to form a single figure.

In figures, (1), () and (IV), two arrows are pointing
towards each other while the other two arrows are
pointing away from each other, except in figure (lll).
Ques 63. ANS (C) Solution:

TP B M & AT STHA A BT aféromad fe=m & 90
&3 guTar ST 8 |

gy 33[, G+1=H; T-1 :@:::; A+ =Y, §—1 =3I,

U UBR, P D U H3 o foIT 3fpfd € &l
féromad fe=m & 90 feeht gamr ST 31

1Y B, D+1=E; 3f-1=T; &g+ 1=T; T4-1=TH.
3k, SMTHTA 111 T B

Figure A is rotated 90 degrees in the clockwise
direction to form figure B.

Also, G+1=H; A-1=Z; T+1=U; E-1=D.

Similarly, figure C is rotated 90 degrees in the clockwise
direction to get figure D.

Also, D+1=E; O-1=N; W+1=X; N-1=M.

So, figure lll is correct.

Ques 64. ANS (C) Solution:

Vegetables\ Oranges

Carrot
Ques 65. ANS (D) Solution:
fort (1Iv) el gar g o .

Figure (V) is the correct unfolded figure..

Ques 66. ANS (A) Solution:
If we rotate the position of second dice in such a way
that '@' will appear on the same face and '!" will appear




on the same face in the two different positions of same
dice, then we get:

Ife BH G U 1 Rfel b1 53 U YA b '@ U
3 Hae W @ ¢ 1 1 T & U i al e Rufaat
T U& g A W @S <, df g8 UIdd gial o

U UBR, #' MY g8 W fears g ok ' e gy R

fe@rs &l

T UBR, # el IexT & I dgx b fAuRid g |

Thus, '#' will appear on the top face and '&' will appear

on the bottom face.

Thus, face having # will be opposite to the face having

&.

Ques 67. ANS (A) Solution:

Tgt, faswed () TRearait &1 U fawd 9g 3|

UY7-2=55x5=25

dh)11-2=9,9x9 =81

M29-2=2727x27 =729

) 15-2=13,13x13 =169

Here, option (a) is an odd group of numbers.

a)7-2=505x5=25

b)11-2=9,9x9 = 81

€)29-2=2727x27 =729

d)15-2=13,13x13 =169

Ques 68. ANS (D) Solution:

T YR, I fadwed @) 7 -

Thus, the answer is an option (d) -

Tt St o By, ged 3R & tag) arel ot

?ﬂéﬂqum TR IR IR & 3R 3o FRUfd s @
I

1Y gt YT 3R §aT AMHR Bt MBIl HHT: 90

Zféromad 3R 90 arHTad gH T § 3R SN &1 I JRi-

IR ¥ 9ad T § 9N o5 g R § Ay B agfa

qiha &, TR TRUH I8 BIell & 3R 30 W

T TR § TRl Bt G= dgdl o el 3

1Y & Ude TROT H Y@ ot giar o1 8T ]

All the figures viz., Triangle, Heart, and two petal

diagrams are following Zigzag path and shifting their

positions.

Also the Triangle and heart shape figures are rotating

90 clockwise and 90 anti-clockwise respectively and the

color of the figure is shifting alternately such as in first

step triangle figure is white in second step it is black

and so on.

In each steps the number of petals is increasing.

Also, in each step the line figure is getting completed.

Ques 69. ANS (C) Solution:

Joju s |T |1 |F v

LK [TV |RT|ISU|HJ|E G|X Z

R E M | E R

P
0,Q|Q s|D,F|ILN|H. J|D,F|Q, 5

"THPRR" BT "OQQSDFLNHIDFQS" feraT e |
The "PREMIER" will be written as "OQQSDFLNHJDFQS".
Ques 70. ANS (D) Solution:

faped sl (v) & 7S sl 7 fHfRd B

The option figure (IV) is embedded in the given figure.

Ques 71. ANS (D) Solution:
N|E|W|F|Oo|u|N|D|L|A|N]|D

FIU[S |[O|A|P|F[X|H|C|F|X

Ques 72. ANS (B) Solution:
fadme smefa 11 Uy snepfa & wfafgd g1
Option figure Il is embedded in the question figure.
Ques 73. ANS (C) Solution:
SUUDPR, 129 + 92 = 221
3) W1 B
Thus, 129 + 92 = 221
So, option (3) is correct.
Ques 74. ANS (C) Solution:

The pattern is:
18*1+1=19

19*2 + 2 =40

40*3 + 3 =123

123*4 + 4 = 496

Ques 75. ANS (C) Solution:

W%Aaﬁw—wmaﬁ BT 180° R T B
GIW%CGﬁTGIW%Dﬁ BT 180° R T B

In figure A and figure B, the image is rotated at 180°.
Similarly,

In figure C and figure D, the image is rotated at 180°
Ques 76. ANS (D) Solution:

Area of rectangular sheet = 20 x 16 = 320 cm?

Width of first border = 20 mm = 2 cm

Width of second border = 30 mm = 3 cm

Area of sheet left=(20-2-2-3-3)*(16-2-2-3 -
3)=10*6 = 60 cm?

Therefore, percentage of area left = (60/320) * 100 =
18.75%

TAIHR R BT &FHA = 20 x 16 = 320 JHR

YA §1eR Bt Aer = 20 it = 2 I+

TN TR BT AeTs = 30 fnft. = 3 3h

o g M HI&TBA = (20-2-2-3-3)*(16-2-2 -
3-3)=10*6 = 60 TH?

3{d: U B BT WA= = (60/320) * 100 = 18.75%
Ques 77. ANS (B) Solution:

(0.5)% - (0.05)% + (0.005)?

= (5/10)2 - (5/100)2 + (5/1000)2

= 25/100 - 25/10000 + 25/1000000

= 0.25 - 0.0025 + 0.000025

= 0.247525

Ques 78. ANS (A) Solution:

HATL, M 3R N & 7Y 3 HU: 7a, 4a 3R 5a g

L gRT U RN 3{d = 7a * 100/(100 + 40) = 5a

M gRT UTd URfN& 3fdh = 4a * 100/(100 + 25) = 16a/5
N GRT UTW URIH® 3id = 5a * 100/(100 - 20) = 25a/4




R, 3ih! BT URMNS 3UTd = L: M: N = 5a: (16a/5):
(25a/4) = 100: 64: 125
Let new marks of L, M and N are 7a, 4a and 5a
respectively.
Initial marks obtained by L = 7a * 100/(100 + 40) = 5a
Initial marks obtained by M = 4a * 100/(100 + 25) =
16a/5
Initial marks obtained by N = 5a * 100/(100 - 20) =
25a/4
Then, initial ratio of marks = L: M: N = 5a: (16a/5):
(25a/4) = 100: 64: 125
Ques 79. ANS (B) Solution:
Speed of the boat in still water = 1.8/(12/60) = 9 km/h
Let x km/h be the speed of the stream.
According to the question,
5.25/(9 - x) + 5.25/(9 + x) = 1.2
=> x = 1.5 km/h
So, downstream speed of the boat =9 + 1.5 = 10.5
km/h
Hence, required time = 25.2/10.5 = 2.4 hours
0id g T A1 &1 714 = 1.8/(12/60) = 9 fadi/ier
AT YRT &1 71 x fared/der ]
UY & 39R,
5.25/(9 -x) + 5.25/9 + x) = 1.2
=>x=15 W/‘EIET
I, A1d BT YRT o 3P 1A = 9 + 1.5 = 10.5 fohHl/EeT
3, SATAASH AT = 25.2/10.5 = 2.4 °e
Ques 80. ANS (B) Solution:
1 . 1 . 1

g{35-21b}+150-25 &(216-493+35)-150 @&(21b6-35)+b{15-98
_ 1 - 1 N 1

353+ 15b-25-21ab 21ab- 493" +353a-15h 213b-353 = 15h - 9b°

1 1 1

" 3b(5-73)-5(5-73) 73(5-7a3)-3b(5-7a) 7a(3b-5)+-3b(3b-5)
1 1 1
(5-73)(3b-5) (5-7a)(7a-3b) (3b-5)(7a-3b)
73-3b+3b-5+5-73
o
(5-72)(3b - 5)(7a - 3b]

=0

Ques 81. ANS (D) Solution:

Sum of the present age of A, B,and C =32 *3 =96
years.

Present age of A = (4X + 3) years

Present age of B = (8X + 2) years

Present age of C = (5X + 6) years

Therefore,

AX+3 +8X+2+5X+6=96

17X = 85

X=5

Present age of C = 5X + 6 = 31 years.

A, B 3R C P aciH 3T BTN = 32 * 3 = 96 Y|
A B TAHM 3T = 4X + 3) T

B &I 9 311 = (8X + 2) T

C &1 9ddM 3G = (5X + 6) T

gafe,

AX+3 +8X+2+5X+6=96

17x = 85

x=5

C & GaHH 31 = 5X + 6 = 31 Y.

Ques 82. ANS (B) Solution:

Here, q% of 180% of 40 = 36% of 50

(9/100) * (180/100) * 40 = (36/100) * 50

q=25

And, p% of (25 + q)% of 300 = 18% of 200

(p/100) * ((25 + 25)/100) * 300 = (18/100) * 200

p =24

Therefore, p - g = 24 - 25 = -1

T8I, 40 & 180% BT q% = 50 BT 36%

(9/100) * (180/100) * 40 = (36/100) * 50

q=25

3R, 300 BT (25 + q)% BT p% = 200 BT 18%

(P/100) * ((25 + 25)/100) * 300 = (18/100) * 200

P =24

AT, p - q = 24 - 25 = -1

Ques 83. ANS (B) Solution:

Let cost price of the TV and the fridge be Rs. 36x and
Rs. 25x respectively and selling price of the TV and the
fridge be Rs. 48y and Rs. 25y, respectively.

According to the question,

36x * 128/100 = 48y

=> x = 25y/24

And, 25x - 3750 = 25y

=>x=150+y

=> 25y/24 = 150 +y

=> 25y = 3600 + 24y

=>y = 3600

Thus, x = 25 * 3600/24 = 3750

So, total cost price = 36x + 25x = 61 * 3750 = Rs.
228750

A o St SR et &1 550 Jeur % 36x 3R 3. HA:
25x 3R Xt 3R S &1 fasha gea 31 48y 3R 3.
SHHR: 25 TN |

UY & 39R,

36x * 128/100 = 48y

=> x = 25y/24

3R, 25x - 3750 = 25y

=>x=150+y

=> 25y/24 = 150 +y

=> 259Y = 3600 + 24 9

=>y = 3600

I UPR, x = 25 * 3600/24 = 3750

I, $ AT G = 36x + 25x = 61 * 3750 = %. 228750
Ques 84. ANS (C) Solution:

Halting time = Number of halts * Time taken for each
halting = (40 - 1) * 10 = 390 minutes = 6.5 hours

Total time to cover 480 km = 480/160 + 6.5 = 9.5 hours
So, the time at which the bus will be 480 km away from
the starting point = 12:08 pm + 9 hours 30 minutes =
9:38 pm

TDh BT GHY = S DI TS * Ydch b H T dTedl
THY = (40 - 1) * 10 = 390 T = 6.5 6

480 T T = H Hd T = 480/160 + 6.5 = 9.5 ©C
1, forg w9g o9 uRfYe fog ¥ 480 fdt g 8l =
12:08 3IRTE + 9 ¥¢ 30 fAFC = 9:38 3WRTE

Ques 85. ANS (C) Solution:




"Let Mark Price(M.P) of an article = Rs. 100 and Cost
Price(C.P) of an article =Rs. x

Then, 450 - 5 x = 700 - 8 x

x =Rs. 250/53

Required ratio = 100 *5/250=6:5"

"HT T U Ixg T 3ifhd T (MLP) = F. 100 3R
U a¥g I NI oI (C.P) = 2. x

fOh3, 450 - 5 x = 700 - 8 x

x = . 250/53

3{TaRYdh AJUld = 100 *5/250= 6 :5"

Ques 86. ANS (A) Solution:

Circumference of the plot = 7425/13.5 = 550 feet.
2x22/7xR =550

=> R = 550 x 7/22x2 = 87.5 feet

Area = 22/7 x 87.5 x 87.5 = 24062.5 sq.ft
YWUS &1 URIY = 7425/13.5 = 550 Bic|

2 x22/7 x 3R = 550

=> 3R = 550 x 7/22x2 = 87.5 BIC

&ADBE = 22/7 x 87.5 x 87.5 = 24062.5 T Fe

Ques 87. ANS (D) Solution:

Let x be the number of students in the class and y be
the average weight of the class

Now according to question,

xy +50)/(x+1)=y+1

X+y=49 .. ()

Again,

(xy +50+50)/(x+2)=y+ 15

1.5x + 2y =97 .......... (i)

From equation (i) and (ii), we get

y =47

T x FHe § faefial &t T § SR y Fen &1 sira
YR B

3T UY & R,

xy +50)/(x+ 1) =y+1

X+y=49 ... (i)

(xy +50+50)/(x+2)=y+ 15
1.5x + 2y =97 .......... (i)
THiBRT (i) 3R (i) T, 89 U §
y =47

Ques 88. ANS (D) Solution:
Given,

1612.8 = P * (1 + r/100)2...(1)
And

17136 = P * (1 + r/100)3...(2)
Divide equation (1) by (2),
1612.8/1713.6 = 1/(1 + r/100)
201.6/214.2 = 1/(1 + r/100)
336/357 = 1/(1 + r/100)

16/17 = 1/(1 + r/100)

16 + 16r/100 = 17

r=100/16 = 6.25%

[CRIRIC]S

1612.8 = P* (1 + r/100)2...(1)

1713.6 = P * (1 + r/100)3...(2)
THERT (1) B (2) T fauTiora &3,

1612.8/1713.6 = 1/(1 + r/100)
201.6/214.2 = 1/(1 + r/100)

336/357 = 1/(1 + r/100)

16/17 = 1/(1 + r/100)

16 + 16r/100 = 17

r=100/16 = 6.25%

Ques 89. ANS (A) Solution:

(x-4) is factor, satisfying (4x*-kx3+5x-20)
So put x = 4 in the equation

Therefore, 4*256 - 64k + 20-20 =0

64k = 1024

k=16

Put value of k in that equation

Now,

4x* - 16x3 + 5% - 20 = 4x3(x-4)+5(x-4) = (4x3+5)(x-4)
Hence 4x*-kx3+5x-20 is divisible by 4x3+5
Ques 90. ANS (A) Solution:

A is two times efficient as that of C

A=2C
1/(x+10) = 2/34
2x + 20 =34
2x =14

x=7

Hence, time taken by A to complete work = x + 10 =
17

That is efficiency of B = 17 units/day

Time taken by B to complete the work = x =7

Total work = 17*7 = 119 units

A, C QN BT §
A=2C

1/(x+10) = 2/34

2x + 20 =34

2x =14

X =7

3fct:, A GRT B QT I3 B ol T a0 = x + 10 = 17
U B BT G&rdl = 17 SHhIs/fA

B GRT BT QRT3 # feran 1 6 = x = 7

A DA = 17*7 = 119 IHAT

Ques 91. ANS (D) Solution:

IR JHMfheder Th gl i Ufehar g1 foraes
T HIYER HI YT TR Pt et 3|

Computer architecture is a theoretical basic process.

Under which the structure of the computer is prepared.

Ques 92. ANS (A) Solution:

CPU ¥ Se31d RSl & fory Ifoex BT @, - IoreR Se

®R H P T B TP Sl 2|

CPU has register for internal storage, - Register is the

smallest unit to store data.

Ques 93. ANS (A) Solution:

Wt g, @< IR gfe) &1 o o R sryar

TR ! ToNeIE (MR HRAT § U Se=N &

g’ﬁv YRR & §1¢ $13cYe & =u § Refee U giarl
I

C.PU. The main function of (Central Processing Unit) is

to execute (processing) the instructions or programs.

After processing according to the program instructions,

the result is obtained as output.




Ques 94. ANS (B) Solution:
FExT &1 FeaTied a7 SR Ried &1 FERA 7 &
forg <ttt g, et gfie &1 ITTNT HRT |
CPU to execute instructions and direct the system. Uses
control unit.
Ques 95. ANS (A) Solution:
W@F ?ﬁ.tﬁ.ll. (Central Processing Unit)- &1 Udh
TS 9T g
Accumulator CPU (Central Processing Unit)- is an
integrated component of.
Ques 96. ANS (A) Solution:
YT O, HIIex &1 UIdpfad sel &l qigs Jutg, &
JTYR TR TP T8 BT HHR T HIeR I gar J fid
BT gl 16 foe At g, ard Hrgest & g, U ¥sg 16
fIcH ¢ | BThH R, TF G 64 92T % 51 THdl 5
In programming, the natural data size of a computer is
the CPU. The size of a word varies from one computer
to another. 16 bit cpu For computers with 16 bits, a
word is 16 bits. On mainframes, a word can be up to 64
bits.
Ques 97. ANS (B) Solution:
CPU gRT TuIfed fobd S dTel TR BT shHI: U B3],
WY HA1, HRA-URTd qUT IROME U&= H1 g g |
The four functions performed by CPU are receiving,
clarifying, efficient transformation and providing results
respectively.
Ques 98. ANS (D) Solution:
Firewire is most often used to connect digital
camcorders, external hard drives, and other devices
that can benefit from the high transfer rates (up to 480
Mbps) supported by the Firewire connection. Firewire
also has the advantage of being able to transfer power
to the device through the same cable that does the
data transfer. A disadvantage of Firewire is that cables
tend to be more expensive.
BRI B gRT FHAT I RIFARU &R (480
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Ques 99. ANS (D) Solution:

1 TIfd B AT §EH, MIPS, MFLOPS 301G § bt
SITht & STafds aTse HURT &1 AES §
CPU speed is measured in Hz, MIPS, MFLOPS etc. while
byte is the unit of memory.
Ques 100. ANS (D) Solution:
T Hde (i), Hog & IufRd th e 3,
WF{%(Memory) @ﬁwﬁaaﬁaﬁm&w
& Ud =MHE B &

Program Counter (PC) is a register present in the CPU,
which contains the address of the next instruction to
be executed from memory.
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